Einkad \‘:.|
Aﬂlilare and is divisible by each of the
St i U ot & 2 T 16, 20 AT 24 F

ets from city A to C costs Rs 77, but
A,L‘om A to C cost Rs 73. What are the

A2 Rt A ¥ C srgx s i1 3 feae it
& C gz % 2 e fr e 73 v g a1

s

) that the quotient is a perfect
FMuE el 329

nd 100./ 89 3% 100 ¥ = *

6 % per annum simple

? 3500

c pole in 15 seconds.
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¥.Q9 Find the value of angles x and y./ v x STy FT 7T G H

o/ >
S 2x-5 z = )-5

oy oy ‘1=4‘5

—

K/).10 Find the smallest number which when divided by 24, 36, and 48 leaves the
remainder 21, 33, and 45 respectively. =& ST @At A1 779 F A 24, 36 7 48 & v

T FA: 21,33 AL 45 AU AHAT B~ L 14|

r

\/Q.ll Find the Value o1 x and y if 3x — 7 =§ and x +% =1 pe
zrf%.3x—7=§ aarx+§=13,zﬁxaaryasrmmﬁn n=2,%=-1

Q.12 If 2 men and 5 women can do a certain piece of work in 4 days, while one man and
one woman can finish i in 12 days, how long would it take 1 man to do the work?/
afX 2 g A 5 AIRATE T P w7 A1 4 Rt & 7% a4 8 Tt v [ sl o afger o 12 4 |
TTFTEF 21 AT 1 AT A IH FTH T FA F raam qw A’ Ig‘h&tﬁ

Q.13 Divide Rs 4250 into three parts such that the second is 80% of the first and the ratio
between the first and third is 5:8./ =7 4250 F1 i st 7 T ave v o gEeT TEe A
80% & i TRt A At ¥ i #v g 5:8 2 | 250, \00O, LO0O

Q.14 In tune following figure, AE is parallel to BC. Find the values of xandy
fafeafaa st & AE, BU ¥ s9maia< €1 a1 X ST y & W 19 F)

D

Lom, X
A (x +19)°
EX= 24

(x +11)°

B C

tank in 6 hours and pipe B can fill it in 8 hours. If both the
er 2 hours pipe A is closed, how much time pipe B will take
¥or o 6 2 & 9T FehT & AT ey B St Em A8 WA
% sfw 2 =2 F are U A Y 43 FT AT ST & v A

Q.15 Pipe A can fill an"empty
pipes are opened and aft
to fill the remaining tank./ arew A o @reft
AT TFAT 2 af% 21T qrE AT qry @i @A s
sty o Bt e n? 19 W

Q.16 Find the smallest number of 5 digits that can be exactly divided by 60,90 and 80.7 +
5 st 1 s gt st 1T PR Y o ot &9 & 60, 90 e 80 & AT & ST |Io6go

Q.17_Aboat goes 25 km downstream in 2.5 hours and 12 km upstream in 3 hours. Find
the speed of the boat in still water and the speed of the stream. | xfu A e 1 e
Pty s ) 3 42 1 1 A & Ao

iéswaﬁgﬁz.sﬁ%ﬁww%wm%ﬁvﬁﬁﬁmﬂz
i e oy & A AR T S rpam = 3 kmfhr, Roat = TEmhr
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Q.18 In the given figure, LOMis a straigh

Q.19

Q.20

Q.21

~Q.22

~023

Q.24

#Q.25

5 iy o o & 9f2 LOM U 714w ¥@T & a1

The area of a right angled triangle
Find its base. /u= s Brast 7 &%
aer A A A AT B4 e
A train covers distance between two s
is reduced by 6 km/hr, then it travel
distance between two stations and s

292 F a7 FAT 2 At 3 A 7fy 6 ey w0

F 1= i T i 3 Ay wifq i sorar )

A copper wire when bent in the form
same wire is bent into the form of a BEERE:

ST AT g 121 7 F S A 97ar 81 2t s K 39 I FT ETEA AT
ffm—> 154 em? | .

Rahim sold two of his buffaloes for Rs
and on the other, a loss of 10%. Find &

TEH AT AT 89 7 F 99 F1 20,000 w7 R 7T
A1 g1 Ereft 1 T 1 e T A7 FIA 1w A

The price of machine depreciates at 10%

»ne, he mafde\a gain of 5%

oss. = . 3.0’.};{

AT AT a_aﬁ‘gﬁwaﬁ 10%

together for 5 days and then A goes
remaining work? / Au# Fw # 25 faqi-
7f% 3 21 a1 et 737 5 AT a 39 F19 A
A bus starts with som
down and 40 pass
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g
the Cost Price of the article.

9 97 @7 21T AT T4 10.50 FH FH 7T
Rs.50

0.5m. Three times the sum of the areas of
' ved surface./ Find the volume of the
AT JUHIE AAG! 6 &G 6 AT A T,
I
im. If Rajiv pays back the debt
on and Rs 1422.50, find the
T 3 & | R Tofie 8 WA AR
¥ ST T {o ST FL |155
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Q6. 'MOM}: 4238 T= 31l _ €L y, R é'Z
¢ R I ]
e Prex] = 21P
1 06 loox 2 106
A= Prak :
P+ 351 = 4235
p+21P . 4235
|06
\?-Hl_ = 4235
[o]o)
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Distance = Dlem,  SpeedsfTrsn= 2 knfhy

s 2 N 8
New speed = (‘\?("‘é) k_m/h'r
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Ew#a,[aw— 2

£P= 20000
Less= ()74
Cfls = ALY \ X $:0
loo-t)
¢h= 160 20800
Qo ~

CPy, =22222.99 |

o= 19047 66+ 2222225
€983
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Question number 26 is misprint
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tF numhes be 1o6%+ loy4Z.
A=42 y

it = x+3+z= 14 .

numbes = ooz-\—loq—ri
+ Qul.&ﬁon'

e leoz.+ joy+x)= 594
looz*loy — % = 594

£ 594
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p= 25

-

(004 PY\ x C-Pm

125 %
[06

L
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Ng pt Q‘ ZBEL

: A 2, ¢ LAl
2 S

2550 x5 x 2
() Joo x 3
X2'5x2 -

* o0+ 12356
2 67450,

Amowr

RIMC JUNE4TH MATH PAPER SOLUTIONS Page 32



RIMC JUNE4TH MATH PAPER SOLUTIONS Page 33



